
L2(25).22 (mod 3)

blocks defect matrix

G : 1 1 3× 2
2 1 3× 2
3 1 3× 2
4 1 3× 2
5 0 481 = χ4+, ϕ4+

6 0 482 = χ6+, ϕ6+

7 0 483 = χ8+, ϕ8+

8 1 3× 2

blocks defect matrix

2.G : 9 0 121 = χ16,0, ϕ12,0

10 0 122 = χ16,1, ϕ12,1

11 0 123 = χ17,0, ϕ13,0

12 = 11 0 124 = χ17,1, ϕ13,1

13 0 484 = χ18+, ϕ14+

14 0 485 = χ20+, ϕ16+

15 0 486 = χ22+, ϕ18+

16 1 3× 1

Block 1: ϕ1,0 ϕ10,1

11 = χ1,0 1 .
252 = χ10,1 . 1
262 = χ11,1 1 1

ϕ1,0 = 11
ϕ10,1 = 252

Block 2: ϕ1,1 ϕ10,0

12 = χ1,1 1 .
251 = χ10,0 . 1
261 = χ11,0 1 1

ϕ1,1 = 12
ϕ10,0 = 251

Block 3: ϕ2,0 ϕ3,1

131 = χ2,0 1 .
134 = χ3,1 . 1
266 = χ13,1 1 1

ϕ2,0 = 131
ϕ3,1 = 134

Block 4: ϕ2,1 ϕ3,0

132 = χ2,1 1 .
133 = χ3,0 . 1
265 = χ13,0 1 1

ϕ2,1 = 132
ϕ3,0 = 133



Block 8: ϕ11,0 ϕ11,1

263 = χ12,0 1 .
264 = χ12,1 . 1
521 = χ14+ 1 1

ϕ11,0 = 261
ϕ11,1 = 262

Block 16: ϕ20+

522 = χ24+ 1
523 = χ26+ 1
524 = χ28+ 1

ϕ20+ = 521


